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1. ll-3!!Cl'''-3f)HW'IJtl-31ti'-3~fh'l1'U''1"fJvhnwl;mm~tl1 ;(0) = a sin Ot + a cos 0j + Ok

!rltl 0 ~ 0, a > 0 l"fJft-3!'IJ'I..l ( 25 fl~!!UU )

2. fil'11U~1,r ;(0) = J3cosoi + J3sin 0j + Ok 11-3'111T,N UCl~ B (35 f1~U'U'U)

3. fil'11U,,1M' ;(t) = (et sint, arctant, t2 -3t+8) ll-3'111~lml:JJlfl'~ (K)!!Cl~i'ffiiml:JJlfl'~(p)

~ t = 0 (30 fl~U'U'U )
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4. ~~'Yf1l1'iO.llfll'i~1'U'lJ1 fll'iCl':JJ:JJ1~'i'IJtl~f)Hrl!:JJf)!'Y1fJ'Uf)'U~~'IJ1 !!f)'U'lJ1 UCl~!Cl''U~H 0 = - !:JJtl
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fil'11U"Cl':JJfll'i!~'U lfl'~1u'i~'U'UViti"!;~~1!1:l'U r = 2 cos 20 (25 f1~!!'U'U)

5. \l~UCl'A~mlvliu'I..l~iJ:iJffl:JJ1j~1U'i~'lJ'lJVitiAillrl~fil'11UfllflfJff:JJfll'i 4x2 - 9y2 + Z2 = 36

1fWVi~1)O.Il ~A~~'lJuuf)uViti" 'itlfJ~"'Uu'i~ul'lJVlti,, !!Cl~'i~Ul'U~'IJ'Ul'Utim~'Ul'UVlti" 'Yf!tl:JJ'Utlf)~tl'IJtl~~b

(35 f1~UUU)

{ x4+4x2y2+2x2+8y2

o 1'" f( ) ? 2 ' (x,y):t: (0,0)6. fll'l1U~ '11 x,y = x- +4y
4k + 3 , (x,y) = (0,0)

ll~Vl\ll'iO.lT:il thvhnw f ,)~mh1iiml:JJ~tlti1tl~~ ~~ (0,0) mhil~'I11~l'IJtl~ k ( 25 f1~!!UU)

7. fil'11U~i,r f(x,y) = xy3 +x3 -4xy+5y-6 \l~~1 fx(x,y) !!Cl~ fy(x,y)1~fJiWfJl:JJ

(30 f1~UUU)

(25 f1~UUU)

3u+2v3 =5s2 +2t-3
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.f{e:J~J.l,r A(t) = (2cost,ln(t + 1),t2 + 1) Ut'l~ B(t) = (et ,sint,t -1) ul{1 lim(A(t). B(t)) = .1-+0

2.1,r ;(t) = (lnt2 ,sine' ,t3) ut'l~ ;J(t) = (A, B, C) Ul{1 A = Ut'l~ B = .

~!lI -( ) _ ( 2 1 ') ~ 6 -()d _3. t'l1 r t - cos t, t + l' SIll t !tin Jo r t t - .

'" !lI '" '" .1! 'l'~ 4 2' e d e 7i d I • '"4. fl1111')j''Utn''Un'1l~m''1'U tl'l'l r = - SIll 'YI = - llfllt'YIlfl'IJ .
6

5. ml11Vl1ttf'UJe'IJ~'l.1'\Je:J'IflHYI r = a +a COS e,a > 0 iifi11'yhn'IJ 'I1'1.bv

y
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7. ti'1 f(x,y) = x2esiny + y2 X - 5 Ul{1 fx(l,O) + 2fy(0,0) = .

8. ti'1 f(x,y,z) = In(x2 + Z2) + XYCOs2 z Ul{1 fx(l,l,O) + f/1,1,0) + fz(l,l,O) = .

9.ti'1 w=ln(x2 +2y-3z), x=r2 +6t, y=3r+2sin2t Ut'l~ z=re2t

Ul{1 '\Jtu~~ r = 2 ,t = 0 ll~'1Il':h Ow = .
at

10. f11~1~f11nh~1Jltufil1l1flfilt~'1e:J'4W'U-fi~11J'\Je:J'I ~(l1.99)2 + (5.02)2 ~ .


